| Efficiency vs Dxy |
>0.05
X

3 5 5 5 5 5 5 5
B.045 1 P P P R
< : : : : : : :
e
k) 5 5 5 : : : :
D035 P e A A
© : : : : : : :
0.03 froe o e froiie
YT N R T ——
002 e
OOLS|
OO

0008+ b

B0 15 C10 50 5 10 15 20
TP dxy (cm)

—=— DQM _original_step?2_ttbar-phasel-newgeom
| Efficiency vs Dz | —e— DQM_pixelCPE_step2_tthar-phasel-newgeom

—— DQM_pixelCPEChi20R2_step2_ttbar-phasel-newgeom
N 0.05 . : ; ;

7L SRS N S T ——
> : : : : :
I 0.04 ...........
o : : : : :
5)035 ...........
® : : : : :
0.03 s e
0.025 . § IS N—
0.02 AR s S S

0.015 ; --}- : ; m"mg ...........

0.01 R B . R
0.005 oo | R S~

930 20 -10 0 10 20 30
TP dz (cm)



	Contents
	Page 1


